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PAPER-3
AG-I 	 : 	Q. 1 to Q. 50
AG-III	 :	 Q. 51 to Q. 100
AG-II 	 :	 Q. 101 to Q. 150

001.	 A person travelling on a straight line 

moves with a uniform velocity V1 for a 

distance x and with a uniform velocity 

V2 for the next equal distance. The 

average velocity V is given by:-

	 (A)	 V V V1 2=

	 (B)	 V 2
1 (V V )1 2= +

	 (C)	 V
2

V
1

V
1

1 2
= +

	 (D)	 V
1

V
1

V
1

1 2
= +

001.	 EH$ AmX‘r grYr aoIm ‘| Hw$N> Xÿar x EH$  

g‘mZ doJ V1 go V¶ H$aVm h¡ Am¡a Cgr 

{Xem ‘| dhr Xÿar x EH$ g‘mZ doJ V2 

go V¶ H$aVm h¡& Am¡gV doJ V H$m ‘mZ 

hmoJm&

	 (A)	 V V V1 2=

	 (B)	 V 2
1 (V V )1 2= +

	 (C)	 V
2

V
1

V
1

1 2
= +

	 (D)	 V
1

V
1

V
1

1 2
= +

AGRICULTURAL CHEMISTRY AND PHYSICS
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002.	 A person standing on the floor of an 

elevator drops a coin. The coin reaches 

the floor of the elevator in a time t1 if 

the elevator is stationary and in time t2 

if it is moving with uniform velocity. 

Then

	 (A)	 t1 = t2	 (B)	 t1 < t2
	 (C)	 t1 > t2	 (D)	 none of these

003.	 A car has to move on a level turn of 

radius 45 m. If the coefficient of static 

friction between the tyre and road is  

μs = 2.0, what is the maximum speed 

the car can take without skidding.

	 (A)	 45 m/s	 (B)	 30 m/s

	 (C)	 90 m/s	 (D)	 insufficient data

004.	 A coin placed on a rotating turn table 

just slips if it is placed at a distance 

of 4 cm from the centre. If the angular 

velocity of the turn table is doubled it 

will just slip at a distance of.

	 (A)	 8 cm

	 (B)	 4 cm

	 (C)	 2 cm

	 (D)	 1 cm

005.	 Water in a bucket is whirled in a 
vertical place with a string attached to 
it. The water does not fall down even 
when the bucket is inverted at top. We 
conclude that in this position.

	 (A)	
r
mvmg
2

= 	 (B)	
r
mvmg >
2

	 (C)	
r
mvmg
2

# 	 (D)	 none of these

002.	 EH$ {bâQ> (EbdoQ>a) ‘| I‹S>m hþAm AmX‘r 

EH$ {g³H$m {JamVm h¡& {g³H$m ’$e© na  

t1 g‘¶ ‘| nhþ§MVm h¡ ¶{X {bâQ> pñWa 

h¡& Am¡a t2 g‘¶ ‘| nhþ§MVm h¡ ¶{X {bâQ> 

EH$ g‘mZ doJ go Mb ahr h¡, V~ 

	 (A)	 t1 = t2	 (B)	 t1 < t2
	 (C)	 t1 > t2	 (D)	 BZ‘| go H$moB© Zht&

003.	 EH$ H$ma H$mo EH$ g‘Vb ‘mo‹S> na {OgH$s 

{ÌÁ¶m 45 m h¡ ‘w‹S>Zm h¡& ¶{X H$ma Ho$ n{h¶o 

Am¡a g‹S>H$ Ho$ ~rM H$m ñW¡{VH$ Kf©U JwUm§H$ 

H$m ‘mZ 2.0 hmo Vmo H$ma {~Zm {’$gbo {H$g 

A{YH$V‘ doJ go Om gH$Vr h¡?

	 (A)	 45 m/s	 (B)	 30 m/s

	 (C)	 90 m/s	 (D)	 An¶m©á AmH$‹S>o

004.	 EH$ Ky‘Vo hþE Q>Z© Q>o~b na aIm hþAm 

{g³H$m Ho$ÝÐ go 4 go.‘r. H$s Xÿar na aIZo 

na R>rH$ {IgH$ OmVm h¡& ¶{X Q>Z© Q>o~b 

H$m H$moUr¶ doJ Xmo JwZm hmo Om¶ Vmo ¶h 

{g³H$m {IgHo$Jm (Ho$ÝÐ go)

	 (A)	 8 cm H$s Xÿar na

	 (B)	 4 cm H$s Xÿar na

	 (C)	 2 cm H$s Xÿar na

	 (D)	 1 cm H$s Xÿar na

005.	 nmZr go ^ar ~mëQ>r CÜd©Vb ‘| añgr go 

~§Yr hþB© Kw‘mB© Om ahr h¢ CƒV‘ {~ÝXþ 

na ~mëQ>r CëQ>r hmoZo na ^r nmZr Zhr§ 

{JaVm& Bg pñW{V ‘|

	 (A)	
r
mvmg
2

= 	 (B)	
r
mvmg >
2

	 (C)	
r
mvmg
2

# 	 (D)	 BZ‘| go H$moB© Zht&
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006.	 If the acceleration due to gravity at 

the surface of the earth is g, the work 

done in slowly lifting a body of mass 

m from the earth surface to a height 

R equal to the radius of the earth is

	 (A)	 mgR	 (B)	
4
1 mgR

	 (C)	
2
1 mgR 	 (D)	 2 mgR

007.	 The escape velocity at the surface of 

the moon is approximately.

	 (A)	 4 km/s	 (B)	 24 km/s

	 (C)	 2.4 km/s	 (D)	 4.2 km/s

008.	 A person sitting in a chair in a sattelite 

feels weightless because–

	 (A)	� the person in the satellite is not 

attracted.

	 (B)	 the normal force is zero.

	 (C)	� the earth does not attract the 

objects in a satellite

	 (D)	� the normal force by the chair 

on the person balances the earth 

attraction.

009.	 The quantities remaining constant in a 
collision are–

	 (A)	� momentum, kinetic energy and 
temperature

	 (B)	� momentum, kinetic energy but not 
temperature.

	 (C)	� momentum and temperature but not 
kinetic energy.

	 (D)	� momentum but neither kinetic 
energy nor temperature.

006.	 ¶{X n¥Ïdr H$s gVh na Jwê$Ëdr¶ ËdaU 

H$m ‘mZ g hmo Vmo m Ðì¶‘mZ Ho$ EH$ 

{nÊS> H$mo Yrao-Yrao gVh go R Xÿar CR>mZo 

‘o {H$¶m J¶m H$m¶© hmoJm 

	 (R = n¥Ïdr H$s {ÌÁ¶m)

	 (A)	 mgR	 (B)	
4
1 mgR

	 (C)	
2
1 mgR 	 (D)	 2 mgR

007.	 MÝÐ‘m na nbm¶Z doJ H$m ‘mZ hmoJm 

(bJ^J)

	 (A)	 4 km/s	 (B)	 24 km/s

	 (C)	 2.4 km/s	 (D)	 4.2 km/s

008.	 CnJ«h Ho$ AÝXa Hw$gu na ~¡R>m hþAm AmX‘r 

^mahrZVm H$m AZw^d H$aVm h¡ ³¶m|{H$

	 (A)	� CnJ«h Ho$ AÝXa ~¡R>m hþAm AmX‘r 

AmH$f©U Zht AZw^d H$aVm&

	 (B)	 A{^bå~ ~b H$m ‘mZ eyÝ¶ h¡&

	 (C)	� CnJ«h Ho$ AÝXa H$s dñVwAm| H$mo n¥Ïdr 

AmH${f©V Zht H$aVr&

	 (D)	� Hw$gu Ho$ Ûmam bJm¶m J¶m A{^bå~ 

~b AmX‘r Ho$ dOZ H$mo g§Vw{bV H$a 

boVm h¡&

009.	 {H$gr Q>³H$a (Collision) ‘| pñWa hmoVm h¡

	 (A)	� g§doJ, J{VO COm© Am¡a Vmn‘mZ

	 (B)	 g§doJ, J{VO COm© bo{H$Z Vmn‘mZ Zht

	 (C)	� g§doJ Am¡a Vmn‘mZ bo{H$Z J{VO COm© 

Zht

	 (D)	� Ho$db g§doJ, Z {H$ J{VO COm© Am¡a 

Z Vmn‘mZ
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010.	 In an inelastic collision

	 (A)	� the initial kinetic energy is equal 

to the final kinetic energy.

	 (B)	� the final kinetic energy is less than 

the initial kinetic energy.

	 (C)	 kinetic energy remains constant.

	 (D)	� the kinetic energy first increases 

and then decreases.

011.	 The work done by all the forces 

(internal and external) on a system 

equals the change in 

	 (A)	 total energy

	 (B)	 kinetic energy

	 (C)	 potential energy

	 (D)	 none of these

012.	 One atmospheric pressure is equal to the

	 (A)	 1.01 × 105 Pa

	 (B)	 1.01 × 107 Pa

	 (C)	 1.01 × 10–5
 Pa

	 (D)	 10.01 Pa

013.	 The atmosphere of the earth is spread 
upto a height of about

	 (A)	 20 km
	 (B)	 100 km
	 (C)	 200 km
	 (D)	 2000 km

014.	 The specific heat of solids at high 

temperature is roughly equal to

	 (A)	 R	 (B)	 2R

	 (C)	 3R	 (D)	 6R

010.	 {H$gr AàË¶mñW Q>³H$a ‘|-

	 (A)	� Amapå^H$ J{VO COm© ~am~a hmoVr h¡ 

A§{V‘ COm© Ho$

	 (B)	� A§{V‘ J{VO COm© H$‘ hmoVr h¡ 

Amapå^H$ J{VO COm© go

	 (C)	 J{VO COm© pñWa hmoVr h¡&

	 (D)	� J{VO COm© nhbo ~‹T>Vr h¡ {’$a H$‘ 

hmoVr h¡&

011.	 {H$gr {ZH$m¶ na bJm¶o ~b (Am§V[aH$ Am¡a 

~mø) Ûmam {H$¶m J¶m H$m¶© hmoVm h¡ {ZåZ 

‘| n[adV©Z

	 (A)	 Hw$b D$Om©

	 (B)	 J{VO D$Om©

	 (C)	 pñW{VO D$Om©

	 (D)	 BZ‘| go H$moB© Zht

012.	 EH$ dm¶w‘§S>br¶ Xm~ ~am~a hmoVm h¡ 

	 (A)	 1.01 × 105 Pa
	 (B)	 1.01 × 107 Pa
	 (C)	 1.01 × 10–5

 Pa
	 (D)	 10.01 Pa

013.	 n¥Ïdr H$m dm¶w‘§S>b bJ^J hmoVm h¡

	 (A)	 20 km H$s C±MmB© VH$

	 (B)	 100 km H$s C±MmB© VH$

	 (C)	 200 km H$s C±MmB© VH$

	 (D)	 2000 km H$s C±MmB© VH$

014.	 A{YH$ Vmn na {H$gr R>mog H$s {d{eîQ> 

D$î‘m hmoVr h¡- bJ^J

	 (A)	 R	 (B)	 2R

	 (C)	 3R	 (D)	 6R
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015.	 The molar specific heat of monoatomic 

ideal gas is equal to 

	 (A)	 R
2
3 	 (B)	 R

2
1

	 (C)	 3R	 (D)	 R
3
2

016.	 As the temperature of a solid approaches 
absolute zero temperature then the 
specific heat 

	 (A)	 approaches zero
	 (B)	 increases
	 (C)	 remains constant at 3R
	 (D)	 none of these

017.	 The first law of thermodynamics is a 
statement of conservation of 

	 (A)	 momentum
	 (B)	 kinetic energy
	 (C)	 potential energy
	 (D)	 total energy

018.	 To remove the backlash - error, the 
screw should be rotated

	 (A)	 in the same direction always
	 (B)	 in the opposite direction
	 (C)	� first clockwise and then 

anticlockwise
	 (D)	� first anticlockwise and then 

clockwise

019.	 Pitch of screw gauge is defined as
	 (A)	� linear distance travelled by screw 

in one half rotation.
	 (B)	� linear distance travelled by the 

screw in one complete rotation.
	 (C)	� linear distance travelled by the screw 

in two complete rotation.	
	 (D)	 none of these

015.	 {H$gr EH$na‘mUwH$ AmXe© J¡g H$s ‘moba 

{d{eîQ>  Cî‘m hmoVr h¡  

	 (A)	 R
2
3 	 (B)	 R

2
1

	 (C)	 3R	 (D)	 R
3
2

016.	 ¶{X {H$gr R>mog H$m Vmn‘mZ eyÝ¶ H¡$b{dZ 
(0 K) Ho$ nmg nhþ±MVm h¡ Vmo CgH$s 
{d{eîQ> D$î‘m hmoJr- 

	 (A)	 eyÝ¶ Ho$ nmg nhþ±MoJm
	 (B)	 A{YH$ hmoJm
	 (C)	 3R na pñWa ahoJm
	 (D)	 BZ‘| go H$moB© Zht&

017.	 Cî‘mJ{VH$s H$m àW‘ {gÕmÝV {H$g g§ajU 
H$mo {Zê${nV H$aVm h¡?

	 (A)	 g§doJ
	 (B)	 J{VO COm©
	 (C)	 pñW{VO COm©
	 (D)	 Hw$b COm©

018.	 ñH«y$JoO ‘|  back-Lash (níMVm) Ìw{Q> H$mo 
Xÿa H$aZo Ho$ {bE Cgo Kw‘mZm Mm{hE

	 (A)	 EH$ hr {Xem ‘| h‘oem
	 (B)	 {dnarV {Xem ‘|
	 (C)	� nhbo K‹S>r H$s gyB© H$s {Xem ‘| {’$a 

{dnarV {Xem ‘|
	 (D)	� nhbo K‹S>r H$s gyB© H$s {dnarV {Xem 

‘| {’$a K‹S>r H$s gyB© H$s {Xem ‘|

019.	 {H$gr ñH«y$JoO Ho$ {nM H$mo n[a^m{fV H$aVo 
h¢

	 (A)	� ñH«y$ Ûmam AmYo Kw‘md ‘| V¶ H$s J¶r 
aoIr¶ Xÿar

	 (B)	� ñH«y$ Ûmam EH$ nyao Kw‘md ‘| V¶ H$s 
J¶r aoIr¶ Xÿar

	 (C)	� ñH«y$ Ûmam Xmo Kw‘md ‘| V¶ H$s J¶r 
aoIr¶ Xÿar 

	 (D)	 BZ‘| go H$m§B© Zht&
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020.	 Saturation vapour pressure of water at 

100°C is roughly

	 (A)	 100 torr	 (B)	 700 torr

	 (C)	 760 torr	 (D)	 860 torr

021.	 The dew point is the temperature at 
which

	 (A)	� the saturation vapour pressure 
is equal to the present vapour 
pressure.

	 (B)	� the saturation vapour pressure 
doubles the present vapour pressure.

	 (C)	� the saturation vapour pressure is 
half of the present vapour pressure.

	 (D)	 none of these.

022.	 The specific heat capacity of ice roughly 
equal to 

	 (A)	 1.0 Cal/g–°C	
	 (B)	 2.0 Cal/g–°C
	 (C)	 0.5 Cal/g–°C
	 (D)	 0.05 Cal/g–°C

023.	 The thermal conductivity of a rod 
depends on

	 (A)	 length
	 (B)	 mass
	 (C)	 area of cross-section
	 (D)	 material of the rod

024.	 A body cools down from 65°C to 60°C 
in 5 minutes. It will cool down from 
60°C to 55°C in

	 (A)	 5 minutes
	 (B)	 less than 5 minutes
	 (C)	 more than 5 minutes
	 (D)	 can not be predicted

020.	 100°C na nmZr H$m g§V¥á dmîn X~md hmoJm 

bJ^J

	 (A)	 100 torr	 (B)	 700 torr
	 (C)	 760 torr	 (D)	 860 torr

021.	 Dew point (Amog {~ÝXþ) dh Vmn‘mZ h¡ 

{Og na

	 (A)	� g§V¥á dmîn Xm~ ~am~a h¡ dV©‘mZ dmîn 

Xm~ Ho$

	 (B)	� g§V¥á dmîn Xm~ dV©‘mZ dmîn Xm~ 

H$m Xmo JwZm

	 (C)	� g§V¥á dmîn Xm~ dV©‘mZ dmîn Xm~ 

H$m AmYm

	 (D)	 BZ‘| go H$moB© Zhr&

022.	 ~’©$ H$s {d{eîQ> D$î‘m Ym[aVm bJ^J hmoVr 

h¡&

	 (A)	 1.0 Cal/g–°C
	 (B)	 2.0 Cal/g–°C
	 (C)	 0.5 Cal/g–°C
	 (D)	 0.05 Cal/g–°C

023.	 {H$gr ~obZmH$ma R>mog (rod) H$s Cî‘m 
MmbH$Vm {Z^©a H$aVr h¡

	 (A)	 bå~mB© na
	 (B)	 Ðì¶‘mZ na
	 (C)	 H$mQ> joÌ’$b na
	 (D)	 N>‹S> Ho$ nXmW© na

024.	 EH$ dñVw 65°C go 60°C Vmn na 5 {‘ZQ> 
‘| R>§S>r hmoVr h¡ Vmo 60°C go 55°C VH$ 
R>§S>r hmoJr&

	 (A)	 5 {‘ZQ> ‘|
	 (B)	 5 {‘ZQ> go H$‘ g‘¶ ‘|
	 (C)	 5 {‘ZQ> go Á¶mXm g‘¶ ‘|
	 (D)	 AmH$bZ Zht {H$¶m Om gH$Vm
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025.	 Newton’s law of cooling is special case 
of

	 (A)	 Wien’s displacement law
	 (B)	 Kirchoff’s law
	 (C)	 Stefan’s law
	 (D)	 Planck’s law

026.	 Ionic ratio of hydrogen and oxygen in 
water is 

	 (A)	 1:2	 (B)	 1:4
	 (C)	 2:1	 (D)	 4:1

027.	 Which one of the following is chemical 
fertilizer?

	 (A)	 Urea
	 (B)	 Sodium Nitrate
	 (C)	 Ammonium Sulphate
	 (D)	 All of above

028.	 Formula of nitric acid is
	 (A)	 HNO3	 (B)	 NH3
	 (C)	 H2SO4	 (D)	 NO2

029.	 Which one is not the allotropic of 
phosphorus.

	 (A)	 White Phosphorus
	 (B)	 Purple Phosphorus
	 (C)	 Red Phosphorus
	 (D)	 Blue Phosphorus

030.	 Ammonia gas is produced in laboratory 
from the following–

	 (A)	 NH4NO3

	 (B)	 NH4Cl + Ca(OH)2

	 (C)	 NH4OH

	 (D)	 (NH4)2SO4

025.	 Ý¶yQ>Z H$m erVbZ {gÕmÝV EH$ {deof pñW{V 
h¡

	 (A)	 drZ Ho$ {dñWmnZ {Z¶‘ H$s
	 (B)	 {H$aMm’$ H$m {gÕmÝV
	 (C)	 pñQ>’$mZ H$m {gÕmÝV
	 (D)	 ßb¢H$ H$m {gÕmÝV

026.	 Ob ‘| hmBS´>moOZ Am¡a Am°³grOZ H$m 
Am¶VZmË‘H$ AZwnmV h¡&

	 (A)	 1:2	 (B)	 1:4
	 (C)	 2:1	 (D)	 4:1

027.	 {ZåZ{b{IV ‘| H$m¡Z EH$ amgm¶{ZH$ Cd©aH$ 
h¡&

	 (A)	 ¶y[a¶m
	 (B)	 gmo{S>¶‘ Zm¶Q´>oQ>
	 (C)	 A‘mo{Z¶‘ gë’o$Q>
	 (D)	 Cnamo³V g^r

028.	 ZmB{Q´>H$ Aåb H$m gyÌ h¡-
	 (A)	 HNO3	 (B)	 NH3
	 (C)	 H2SO4	 (D)	 NO2

029.	 Bg‘| go H$m¡Z EH$ ’$m°ñ’$moag H$m Anaê$n 
Zht h¡-

	 (A)	 g’o$X ’$m°ñ’$moag
	 (B)	 ~¡JZr ’$m°ñ’$moag
	 (C)	 bmb ’$m°ñ’$moag
	 (D)	 Zrbm ’$m°ñ’$moag

030.	 à¶moJembm ‘| A‘mo{Z¶m J¡g {ZåZ{b{IV 
A{^H$‘©H$mo go ~Zm¶r OmVr h¡-

	 (A)	 NH4NO3

	 (B)	 NH4Cl + Ca(OH)2

	 (C)	 NH4OH

	 (D)	 (NH4)2SO4
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031.	 Molecular formula of glucose is–

	 (A)	 C6H12O6	 (B)	 (C6H10O5)n

	 (C)	 C12H22O11	 (D)	 None of these

032.	 Which of the following ions will cause 

hardness of water sample?

	 (A)	 Ca2+	 (B)	 Na+

	 (C)	 Cl–	 (D)	 K+

033.	 Which one of the following is present 

as an active ingredient in bleaching 

powder for belching action?

	 (A)	 Ca2OCl2	 (B)	 Ca(OCl)2

	 (C)	 CaO2Cl	 (D)	 CaCl2

034.	 The commercial name of colon is

	 (A)	 Ion exchange resins

	 (B)	 Sodium aluminum Sulphate

	 (C)	 Sodium hydrogen Sulphate

	 (D)	 Sodium hexa meta phosphate

035.	 Chlorine molecule is an example of

	 (A)	 Valency

	 (B)	 Electrovalency

	 (C)	 Co-ordinate valency

	 (D)	 Co-valency

036.	 Which one of the following is the 
strongest base?

	 (A)	 C2H6	 (B)	 KOH

	 (C)	 CaSO4	 (D)	 Mg(OH)2

031.	 ½byH$mog H$m AmpÊdH$ gyÌ h¡&

	 (A)	 C6H12O6	 (B)	 (C6H10O5)n

	 (C)	 C12H22O11	 (D)	 Bg‘| go H$moB© Zht&

032.	 {ZåZ{b{IV ‘| H$m¡Z Am¶Z nmZr H$s H$R>moaVm 

H$m H$maU h¡&

	 (A)	 Ca2+	 (B)	 Na+

	 (C)	 Cl–	 (D)	 K+

033.	 {da§OZ {H«$¶m Ho$ {bE {da§OZ nmCS>a ‘| 

g{H«$¶ g§KQ>H$ H$m¡Z gm h¡-

	 (A)	 Ca2OCl2	 (B)	 Ca(OCl)2

	 (C)	 CaO2Cl	 (D)	 CaCl2

034.	 H$mbJZ {H$gH$m ì¶mdgm{¶H$ Zm‘ h¡?

	 (A)	 Am¶Z {d{Z‘¶ ao{OZ

	 (B)	 gmo{S>¶‘ Ebw{‘{Z¶‘ gë’o$Q>

	 (C)	 gmo{S>¶‘ hmBS´>moOZ gë’o$Q>

	 (D)	 gmo{S>¶‘ ho³gm ‘oQ>m ’$m°ñ’o$Q>

035.	 ³bmoarZ AUw CXmhaU h¡&

	 (A)	 g§¶moOH$Vm

	 (B)	 d¡ÚwV g§¶moOH$Vm

	 (C)	 Cn-gh g§¶moOH$Vm

	 (D)	 gh-g§¶moOH$Vm

036.	 {ZåZ{b{IV ‘| H$m¡Z EH$ g~go à~b jma 

h¡&

	 (A)	 C2H6	 (B)	 KOH

	 (C)	 CaSO4	 (D)	 Mg(OH)2
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037.	 Glycerol is.

	 (A)	 Monohydric alcohol

	 (B)	 Dihydric alcohol

	 (C)	 Trihydric alcohol

	 (D)	 Poly hydric alcohol

038.	 Value of Avogadro”s number is–
	 (A)	 60.23 × 1023	
	 (B)	 6.023 × 1023

	 (C)	 6023 × 1023	
	 (D)	 602.3 × 1023

039.	 Oxidation number of N in HNO3
	 (A)	 +5	 (B)	 –5
	 (C)	 –3	 (D)	 +3

040.	 Which form of sulphur is produced by 
the volcano mountain.

	 (A)	 H2S	 (B)	 H2SO4
	 (C)	 CS2	 (D)	 SO2

041.	 Bauxite is the ore of which metal.

	 (A)	 Ca	 (B)	 Al

	 (C)	 Fe	 (D)	 K

042.	 Acidic soil is called.
	 (A)	 More than 7 pH
	 (B)	 On 7 pH
	 (C)	 Less than 7 pH
	 (D)	 None of these

043.	 Formula of calcium carbonate is.
	 (A)	 CaHCO3	 (B)	 CaCl2
	 (C)	 CaCO3	 (D)	 CaSO4

037.	 p½bgamob h¡-

	 (A)	 ‘moZmo hmB{S´>H$ EoëH$mohmob

	 (B)	 S>mB© hm{S´>H$ EëH$mohm°b

	 (C)	 Q´>mB hmB{S´>H$ EoëH$mohmob

	 (D)	 ~hþhm{S´>H$ EëH$mohmob

038.	 AmdmoJmÐmo g§»¶m H$m ‘mZ hmoVm h¡&

	 (A)	 60.23 × 1023	
	 (B)	 6.023 × 1023

	 (C)	 6023 × 1023	
	 (D)	 602.3 × 1023

039.	 HNO3 ‘| N H$s Am³grH$aU g§»¶m h¡&

	 (A)	 +5	 (B)	 –5
	 (C)	 –3	 (D)	 +3

040.	 Ádmbm‘wIr nd©V go {ZH$bZo dmbr J§YH$ 

H$m ê$n h¡&

	 (A)	 H2S	 (B)	 H2SO4
	 (C)	 CS2	 (D)	 SO2

041.	 ~m°³gmBQ> {H$g YmVw H$m A¶ñH$ h¡&

	 (A)	 Ca	 (B)	 Al

	 (C)	 Fe	 (D)	 K

042.	 Aåbr¶ ‘¥Xm H$hbmVr h¡&
	 (A)	 nr-EM 7 go A{YH$ hmoZo na
	 (B)	 nr-EM 7 hmoZo na
	 (C)	 nr-EM 7 go H$‘ hmoZo na
	 (D)	 Bg‘| go H$moB© Zht

043.	 H¡$pëe¶‘ H$m~m}ZoQ> H$m gyÌ h¡&

	 (A)	 CaHCO3	 (B)	 CaCl2
	 (C)	 CaCO3	 (D)	 CaSO4
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044.	 Number of carbon atom in benzene ring 
is.

	 (A)	 4	 (B)	 5
	 (C)	 6	 (D)	 8

045.	 Baking soda is
	 (A)	 NaHCO3	 (B)	 Na2CO3
	 (C)	 NaOH	 (D)	 none of these

046.	 Formula of urea is–
	 (A)	 CO(NH2)2

	 (B)	 (NH4)2CO3

	 (C)	 NH2COONH4

	 (D)	 NH3

047.	 Which is formed when carbondioxide 
is dissolved in water

	 (A)	 CO2	 (B)	 CO3
	 (C)	 H2CO3	 (D)	 Na2CO3

048.	 The highest saponification value is.

	 (A)	 Coconut oil

	 (B)	 Castor oil

	 (C)	 Linseed oil

	 (D)	 Cotton oil

049.	 What is used for the preparation of gun 
powder.

	 (A)	 KCl	 (B)	 KNO3
	 (C)	 NaCO3	 (D)	 NaCl

050.	 Water reaction on calcium carbide 
produces.

	 (A)	 Ammonia	 (B)	 Acetylene
	 (C)	 Ethylene	 (D)	 None of these

044.	 ~|OrZ db¶ ‘| H$m~©Z na‘mUwAm| H$s g§»¶m 

hmoVr h¡&

	 (A)	 4	 (B)	 5
	 (C)	 6	 (D)	 8

045.	 ImZo H$m gmoS>m h¡&

	 (A)	 NaHCO3	 (B)	 Na2CO3
	 (C)	 NaOH	 (D)	 BZ‘| go H$moB© Zht&

046.	 ¶y[a¶m H$m gyÌ h¡&

	 (A)	 CO(NH2)2

	 (B)	 (NH4)2CO3

	 (C)	 NH2COONH4

	 (D)	 NH3

047.	 H$m~©Z S>mB© Am³gmBS> Ob ‘| KwbH$a ~ZmVr 

h¡&

	 (A)	 CO2	 (B)	 CO3
	 (C)	 H2CO3	 (D)	 Na2CO3

048.	 {ZåZ{b{IV ‘| go {H$gH$m gm~wZrH$aU ‘mZ 
A{YH$ hmoVm h¡&

	 (A)	 Zm[a¶b H$m Vob
	 (B)	 AaÊS>r H$m Vob
	 (C)	 Abgr H$m Vob
	 (D)	 H$nmg H$m Vob

049.	 ~mê$X ~ZmZo ‘| à¶w³V hmoVm h¡&

	 (A)	 KCl	 (B)	 KNO3

	 (C)	 NaCO3	 (D)	 NaCl

050.	 H¡$pëg¶‘ H$m~m©BS> na Ob H$s A{^{H«$¶m 

go ~ZVm h¡&

	 (A)	 A‘mo{Z¶m	 (B)	 E{g{Q>brZ

	 (C)	 E{WbrZ	 (D)	 Bg‘| go H$moB© Zht&
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051.	 Sugarcane breeding institute is situated 
at

	 (A)	 Mumbai	 (B)	 Delhi
	 (C)	 Lucknow	 (D)	 Coimbatore

052.	 The cell wall is made up of –
	 (A)	 fat	 (B)	 amino acid
	 (C)	 protein	 (D)	 cellulose

053.	 Potato is a modified –
	 (A)	 root	 (B)	 stem
	 (C)	 leaf	 (D)	 flower

054.	 TPS is related to –
	 (A)	 onion	 (B)	 potato
	 (C)	 garlic	 (D)	 tomato

055.	 Hill reaction is a part of –
	 (A)	 respiration
	 (B)	 cell division
	 (C)	 photosynthesis
	 (D)	 none of these

056.	 In photosynthesis, oxygen comes from –
	 (A)	 carbon dioxide
	 (B)	 water
	 (C)	 both carbon dioxide and water
	 (D)	 none of these

057.	 The plants whose morphological 
characters are same are called as –

	 (A)	 morphology	 (B)	 physiology
	 (C)	 mimicry	 (D)	 none of these

051.	 JÞm àOZZ g§ñWm CnpñWV h¡-

	 (A)	 ‘wå~B©	 (B)	 {Xëbr

	 (C)	 bIZD$	 (D)	 H$moB‘~Qy>a

052.	 gob H$s Xrdma ~Zr hmoVr h¡…

	 (A)	 ’¡$Q>	 (B)	 E‘rZmo E{gS> 

	 (C)	 àmoQ>rZ	 (D)	 {gbwbmog

053.	 Amby EH$ n[ad{V©V ............ h¡

	 (A)	 O‹S>	 (B)	 VZm

	 (C)	 nËVr	 (D)	 ’y$b

054.	 Q>r.nr.Eg. g§~§{YV h¡…
	 (A)	 ß¶mO	 (B)	 Amby
	 (C)	 bhgwZ	 (D)	 Q>‘mQ>a

055.	 {hb [aEH$eZ ^mJ h¡
	 (A)	 [ag{naoeZ
	 (B)	 gob {S>drOZ
	 (C)	 àH$me g§íbofU
	 (D)	 BZ‘| go H$moB© Zht&

056.	 ’$moQ>mo{gpÝW{gg ‘| Am³grOZ AmVr h¡

	 (A)	 H$m~©ZS>mB© Am³gmBS> go

	 (B)	 nmZr go

	 (C)	 XmoZm| H$m~©ZS>mB© Am³gmBS> Am¡a nmZr go

	 (D)	 BZ‘| go H$moB© Zht&

057.	 {OZ nm¡Ymo§ H$s ~mø AmH$maH$s¶ g‘mZ hmoVr 

h¡ CZH$mo H$hVo h¢

	 (A)	 ‘ma’$mobmoOr	 (B)	 {’${O¶mobmoOr

	 (C)	 ZH$bMr	 (D)	 BZ‘| go H$moB© Zht&

AGRONOMY AND AGRICULTURAL BOTANY
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058.	 Mushroom is a form of –
	 (A)	 Fungus
	 (B)	 Bacteria
	 (C)	 Virus
	 (D)	 none of these

059.	 The power house of cell is –
	 (A)	 protoplasm	 (B)	 ribosome
	 (C)	 mitochondria	(D)	 nucleoplasm

060.	 In cell division, crossing over occurs at–
	 (A)	 pachytene stage
	 (B)	 zygotene stage
	 (C)	 leptotene stage
	 (D)	 diplotene stage

061.	 The meotic cell division occurs in –
	 (A)	 body cells
	 (B)	 sperm cells
	 (C)	 ova cells
	 (D)	 both sperm and ova cells

062.	 The dark reaction is associated with –
	 (A)	 cell division	
	 (B)	 transpiration
	 (C)	 photosynthesis
	 (D)	 respiration

063.	 The term gynophores is related to crop –
	 (A)	 gram	 (B)	 groundnut
	 (C)	 rice	 (D)	 cotton

064.	 The term curing is related to –
	 (A)	 tobacco	 (B)	 groundnut
	 (C)	 rice	 (D)	 cotton

058.	 Hw$H$a‘wÎmm EH$ àH$ma H$m hmoVm h¡…

	 (A)	 ’§$Jg ¶ H$dH$

	 (B)	 ~¡H$Q>r[a¶m

	 (C)	 dmBag

	 (D)	 BZ‘o§ go H$moB© Zhr§&

059.	 gob H$s D$Om© Ka hmoVr h¡

	 (A)	 àmoQ>mo ßbmñ‘	 (B)	 [a~mogmo‘

	 (C)	 ‘mBQ>moWmopÝS>¶m	 (D)	 Ý¶y{gbmo ßbmí‘

060.	 gob ~§Q>dmam ‘| H«$mqgJ Amoda nhþ±MmVr h¡…

	 (A)	 n¡MoQ>rZ ñQ>oO

	 (B)	 OmBJmoQ>oZ ñQ>oO

	 (C)	 {bnQ>moQ>oZ ñQ>oO

	 (D)	 {S>nbmoQ>o ñQ>oO

061.	 {‘¶mo{Q>H$ gob ~§Q>dmam hmoVm h¡…

	 (A)	 ~mS>r goëg

	 (B)	 ñn‘© goëg 

	 (C)	 Amodm goëg

	 (D)	 XmoZm| ñn‘© Am¡a Amodm goëg

062.	 S>mH©$ [aE³eZ gå~{ÕV h¡…

	 (A)	 gob {S>drOZ go

	 (B)	 Q´>mÝg{naoeZ go

	 (C)	 ’$moQ>mo g¡Ýg{Wg go

	 (D)	 aog{naoeZ go

063.	 JmBZmo’$moag eãX gå~Õ h¡…

	 (A)	 MZm go	 (B)	 ‘y±J’$br go

	 (C)	 YmZ go	 (D)	 H$nmg go

064.	 eãX ³¶y[a¨J gå~Õ h¡

	 (A)	 Vå~mHy$ go	 (B)	 ‘y±J’$br go

	 (C)	 YmZ go	 (D)	 H$nmg go
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065.	 In protein synthesis, DNA to RNA is 

formed by process –

	 (A)	 transcription

	 (B)	 translation	

	 (C)	 both transcription and translation

 	 (D)	 none of these

066.	 The algal bloom is related to –

	 (A)	 decrease of BOD

	 (B)	� presence of nitrogen fertilizers in 

water bodies

	 (C)	 excessive algae growth

	 (D)	 all the options

067.	 Global warming is related to 

	 (A)	 oxygen

	 (B)	 nitrogen

	 (C)	 carbon dioxide

	 (D)	 water vapours

068.	 Ozone protect us from –

	 (A)	 X rays

	 (B)	 microwaves

	 (C)	 UV rays

	 (D)	 gamma rays

069.	 The maize protein is called –

	 (A)	 leucine	 (B)	 tryptophan

	 (C)	 lysine	 (D)	 Zein

070.	 The green colour of plants is due to

	 (A)	 xanthophyll	 (B)	 lycopene

	 (C)	 chlorophyll	 (D)	 carotene

065.	 àmoQ>rZ ~ZZo H$s {H«$¶m ‘|, S>r.EZ.E. go  Ama.

EZ.E. ~ZVo g‘¶ {H$gH$m à¶moJ hmoVm h¡&

	 (A)	 Q´>mÝg{H«$neZ

	 (B)	 Q´>mÝgboeZ	

	 (C)	 XmoZmo Q´>mÝg{H«$neZ Ed§ Q´>mÝgboeZ

 	 (D)	 BZ‘| go H$moB© Zht&

066.	 AbJb ãby‘ gå~Õ h¡…

	 (A)	 ~r.Amo.S>r. Ho$ H$‘ hmoZo go

	 (B)	� Obme¶ ‘| ZmBQ´>moOZ ’$Q>ubmBOa H$s 

CnpñW{V ‘|

	 (C)	 EbJr H$s A{YH$ ~‹T>moÎmar go

	 (D)	 g^r {dH$ën

067.	 ½bmo~b ~m{‘ªJ gå~Õ h¡…

	 (A)	 Am³grOZ go

	 (B)	 ZmBQ´>moOZ go

	 (C)	 H$m~©ZS>mB© Am³gmBS>

	 (D)	 dmQ>a dona

068.	 AmoOmoZ h‘mar ajm H$aVm h¡…

	 (A)	 E³g-{H$aUm| go

	 (B)	 ‘mBH«$modod go

	 (C)	 ¶y.dr. {H$aUm| go

	 (D)	 Jm‘m {H$aUm| go

069.	 ‘³H$m H$m àmoQ>rZ H$hbmVm h¡…

	 (A)	 {b¶mo{gZ	 (B)	 bmB{gZ

	 (C)	 Q´>mB©nQ>mo’$mZ	 (D)	 qOBZ

070.	 ham a§J nm¡Ymo ‘| hmoVm h¡…

	 (A)	 EZW«mo{’$b go	 (B)	 bmBgmonrZo go

	 (C)	 ³bmoamo{’$b go	 (D)	 H$mamoQ>rZo go



3 - CA ]	 [ 15 ]	 [ P.T.O.

071.	 Which irrigation method has maximum 

water use efficiency (WUE).

	 (A)	 flood irrigation

	 (B)	 drip irrigation

	 (C)	 sprinkler irrigation

	 (D)	 check basin method

072.	 What is common irrigation source in 

Uttar Pradesh

	 (A)	 tubewell or borewell

	 (B)	 canal

	 (C)	 guls

	 (D)	 none of these

073.	 Oryza sativa is the scientific name of –

	 (A)	 lentil	 (B)	 rice

	 (C)	 bajra	 (D)	 potato

074.	 The chromosome no. of wheat is

	 (A)	 2n = 24	 (B)	 2n = 42

	 (C)	 2n = 20	 (D)	 2n = 40

075.	 The most commonly used Nitrogen 

source of fertilizer is –

	 (A)	 Ammonium nitrate

	 (B)	 Diammonium phosphate

	 (C)	 Urea

	 (D)	 none of these

076.	 The king of fruit is –

	 (A)	 watermelon	 (B)	 banana

	 (C)	 litchi	 (D)	 mango

071.	 H$m¡Z gr qgMmB© {d{Y g~go A{YH$ Ob 

Cn¶moJ j‘Vm dmbr h¡…

	 (A)	 ~m‹T> qgMmB© {d{Y

	 (B)	 Q>nH$ qgMmB© {d{Y

	 (C)	 ’$m¡dmam qgMmB© {d{Y

	 (D)	 MoH$ ~o{gZ qgMmB© {d{Y

072.	 CÎma àXoe ‘| gm‘mÝ¶V… qgMmB© Ho$ lmoV 

³¶m h¡…

	 (A)	 Q>çw~ dob ¶m ~moa~ob

	 (B)	 Zha

	 (C)	 Jwëg

	 (D)	 Cnamo³V H$moB© Zht&

073.	 AmoamBOm gOmBdm d¡km{ZH$ Zm‘ h¡…

	 (A)	 ‘gya	 (B)	 YmZ

	 (C)	 ~mOam	 (D)	 Amby

074.	 Joh±ÿ H$m H«$m‘moOmo‘ Zå~a h¡

	 (A)	 2n = 24	 (B)	 2n = 42

	 (C)	 2n = 20	 (D)	 2n = 40

075.	 g~go Á¶mXm à¶moJ H$s OmZo dmbr ZÌOZ 

ImX H$m BñVo‘mb hmoVm h¡

	 (A)	 A‘mo{Z¶‘ ZmBQ´>oQ>

	 (B)	 S>mB© A‘mo{Z¶‘ ’$mñ’o$Q>

	 (C)	 ¶y[a¶m

	 (D)	 Cnamo³V H$moB© Zht

076.	 ’$bm| H$m amOm h¡…
	 (A)	 Va~yO	 (B)	 Ho$bm
	 (C)	 Am‘	 (D)	 brMr
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077.	 The vertical section of soil is called as–
	 (A)	 soil structure 
	 (B)	 soil texture
	 (C)	 soil profile
	 (D)	 Both soil structure and soil texture

078.	 Read the statements and answer the 
questions accordingly

	 (1)	� Barren soil is eroded more than 
grass covered soil

	 (2)	� Grasses interrupt with splash 
erosion of soil

	 (A)	� statement (2) is correct explanation 
of statement (1)

	 (B)	 Both (1) and (2) are wrong
	 (C)	� Statement (1) is correct but 

statement (2) is wrong
	 (D)	 None of these

079.	 The common ratio of N:P:K for field 
crops is –

	 (A)	 1:2:4	 (B)	 4:2:2
	 (C)	 1:2:3	 (D)	 4:2:1

080.	 The kisan khad is –
	 (A)	 CAN (Calcium ammonium nitrate)
	 (B)	 Urea
	 (C)	 DAP
	 (D)	 SSP

081.	 The best method of irrigation in fruit 
crops is –

	 (A)	 drip irrigation
	 (B)	 basin method
	 (C)	 check basin method
	 (D)	 none of these

077.	 {‘Å>r H$m D$Üdm©Ya go³gZ H$hbmVm h¡…

	 (A)	 {‘Å>r H$m ñQ´>³Ma

	 (B)	 {‘Å>r H$m Q>o³Ma

	 (C)	 {‘Å>r H$s àmo’$mBb

	 (D)	 XmoZm| {‘Å>r H$m ñQ´>³Ma Am¡a Q>o³Ma

078.	 {X¶o J¶o H$WZ H$mo n‹T>| Am¡a CgrZwgma CÎma 

X|

	 (1)	� ~§Oa ^y{‘ H$m jaU Kmg go ^ar ^y{‘ 

go A{YH$ hmoVm h¡&

	 (2)	� Kmg ñnobg ^y{‘ N>aU H$mo amoH$Vr h¡&

	 (A)	� (2) ‘| {X¶m J¶m H$WZ (1) ‘| {XE 

JE H$WZ H$mo ghr R>hamVm h¡&

	 (B)	 XmoZm| (1) Am¡a (2) JbV h¢&

	 (C)	� H$WZ (1) ghr h¡ naÝVw H$WZ (2) 
JbV h¡

	 (D)	 Cnamo³V H$moB© Zht&

079.	 ‘¡XmZr ’$gbm| ‘| gm‘mÝ¶V… EZ.nr.Ho$. H$m 

AZwnmV hmoVm h¡

	 (A)	 1:2:4	 (B)	 4:2:2
	 (C)	 1:2:3	 (D)	 4:2:1

080.	 {H$gmZ ImX h¡…

	 (A)	 H¡$b{e¶‘ A‘mo{Z¶‘ ZmBQ´>oQ>

	 (B)	 ¶y[a¶m

	 (C)	 S>r.E.nr.

	 (D)	 Eg.Eg.nr.

081.	 ’$bm| H$s IoVr ‘| g~go AÀN>r qgMmB© 

{d{Y h¡

	 (A)	 Q>nH$ qgMmB©

	 (B)	 ~o{gZ {d{Y

	 (C)	 MoH$ ~o{gZ {d{Y

	 (D)	 Cnamo³V H$moB© Zht&
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082.	 Khaira disease is a common disease of –

	 (A)	 Wheat	 (B)	 Rice

	 (C)	 Maize	 (D)	 Potato

083.	 “Jethro Tull” is the father of –

	 (A)	 Weeds

	 (B)	 Soil

	 (C)	 Drip irrigation

	 (D)	 TPS

084.	 The source of organic fertilizer is

	 (A)	 urea

	 (B)	 cowdung

	 (C)	 vermi compost

	 (D)	 DAP

085.	 The source of organic manure is–

	 (A)	 urea	 (B)	 cowdung

	 (C)	 SSP	 (D)	 DAP

086.	 The harmone require for ripening of 

fruits –

	 (A)	 Ethylene	 (B)	 GA

	 (C)	 ABA	 (D)	 NAA

087.	 The Kharif season starts from –

	 (A)	 June/July

	 (B)	 October/November

	 (C)	 February/March

	 (D)	 None of these

082.	 I¡am ~r‘mar gm‘mÝ¶V… hmoVr h¡…

	 (A)	 Johÿ± ‘|	 (B)	 YmZ ‘|

	 (C)	 ‘³H$m ‘|	 (D)	 Amby ‘|

083.	 ""OoWamo Vwb'' {nVm h¢

	 (A)	 IanVdmam| H$m

	 (B)	 ^y{‘ H$m

	 (C)	 {S´>n qgMmB© H$m

	 (D)	 Q>r.nr.Eg. H$m

084.	 H$m~}{ZH$ Cd©aH$ H$m lmoV h¡…

	 (A)	 ¶y[a¶m

	 (B)	 Jmo~a

	 (C)	 Ho$MwE H$s ImX

	 (D)	 S>r.E.nr.

085.	 H$m~}{ZH$ ImX H$m lmoV h¡…

	 (A)	 ¶y[a¶m	 (B)	 Jmo~a

	 (C)	 Eg.Eg.nr.	 (D)	 S>r.E.nr.

086.	 ’$bm| H$mo nH$mZo ‘| {H$g hma‘moZ H$s Oê$aV 

h¡…

	 (A)	 BWbrZ	 (B)	 Or.E.

	 (C)	 E.~r.E.	 (D)	 EZ.E.E.

087.	 Iar’$ H$m ‘m¡g‘ ewê$ hmoVm h¡…

	 (A)	 OyZ/OwbmB©

	 (B)	 A³Qy>~a/Zdå~a

	 (C)	 ’$adar/‘mM©

	 (D)	 BZ‘| go H$moB© Zht&
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088.	 The first Agriculture university of India–
	 (A)	� Chandra Shekhar Azad University 

of Agriculture and Technology
	 (B)	 Banaras Hindu University
	 (C)	� Sardar Vallabh Bhai Patel University 

of Agriculture and Technology
	 (D)	� G.B. Pant University of Agriculture 

and Technology

089.	 The father of green revolution –
	 (A)	 Jethro Tull
	 (B)	 M. S. Swaminathan
	 (C)	 Peter de Cresenzi
	 (D)	 None of these

090.	 The permanent wilt point of common 
field crops is –

	 (A)	 0 bar	 (B)	 – 0.33 bar
	 (C)	 – 15 bar	 (D)	 – 48 bar

091.	 Onion and garlic is the example of –
	 (A)	 Biennial crop
	 (B)	 Annual crop
	 (C)	 Perennial crop
	 (D)	 None of these

092.	 The mimicry weed of rice is –
	 (A)	 Chenopodium album	

(B)	 Celosia argentia
	 (C)	 Echinochloa crusgalli
	 (D)	 Phalaris minor

093.	 The dominancy of iron and aluminium 
is more at –

	 (A)	 basic pH	 (B)	 neutral pH
	 (C)	 acidic pH	 (D)	 both (A) and (B)

088.	 ^maV H$m àW‘ H¥${f {díd{dÚmb¶ h¡&
	 (A)	� eoIa AmOmX H¥${f Ed‘² VH$ZrH$s 

{díd{dÚmb¶
	 (B)	 ~Zmag {hÝXÿ {díd{dÚmb¶
	 (C)	� gaXma ~ëb^ ^mB© nQ>ob H¥${f Ed‘² 

VH$ZrH$s {díd{dÚmb¶
	 (D)	� Or.~r. nÝV H¥${f Ed‘² VH$ZrH$s 

{díd{dÚmb¶

089.	 h[aV H«$mpÝV Ho$ OZH$
	 (A)	 OoWamo Vwb
	 (B)	 E‘. Eg. ñdm‘rZmWZ
	 (C)	 n|Q>a S>r {H«$gZOr
	 (D)	 BZ‘| go H$moB© Zht&

090.	 ñWm¶r ‘waPmZ {~ÝXÿ gm‘mÝ¶V… ’$gbr IoVr 
‘| hmoVm h¡…

	 (A)	 0 ~ma	 (B)	 – 15 ~ma
	 (C)	 – 0.33 ~ma	 (D)	 – 48 ~ma

091.	 ß¶mO Am¡a bhgwZ CXmhaU h¡…
	 (A)	 Xmo dfu¶ ’$gb
	 (B)	 EH$ dfu¶ ’$gb
	 (C)	 ~hþ dfu¶ ’$gb
	 (D)	 BZ‘| go H$moB© Zht&

092.	 ZH$bMr IanVdma YmZ ‘| hmoVm h¡…
	 (A)	 MoZmonmo{S>¶‘ Eb~‘
	 (B)	 {gbmo{g¶m AgmopÝQ>¶m
	 (C)	 BMmoZmoMbmodm
	 (D)	 {’$bmag ‘mBZa

093.	 bmohm Ed‘² Aë¶y{‘{Z¶‘ H$m dM©íd A{YH$ 
hmoVm h¡…

	 (A)	 jmar¶ pH	 (B)	 CXmgrZ pH
	 (C)	 Aåbr¶ pH	 (D)	 XmoZm| (A) Am¡a (B)
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094.	 The hormone reponsible for detachment 
of fruits and leaves from plant is –

	 (A)	 ABA	 (B)	 GA
	 (C)	 NAA	 (D)	 Ethylene

095.	 The word SRI stands for –
	 (A)	 Sub regional institute
	 (B)	 State rice institute
	 (C)	 State research institute
	 (D)	 System of Rice intensification

096.	 The grain sugar is called as –
	 (A)	 sucrose	 (B)	 galactose
	 (C)	 maltose	 (D)	 lactose

097.	 The flower of sugarcane is called as –
	 (A)	 flower	 (B)	 siliqua
	 (C)	 tassel	 (D)	 arrow

098.	 The plants which produces flowers, 
fruits and seeds at less than or equal 
to 9 hours day light are called as –

	 (A)	 short day plants
	 (B)	 long day plants
	 (C)	 day neutral plants
	 (D)	 none of these

099.	 Jack fruit is a –
	 (A)	 vegetable	 (B)	 fruit
	 (C)	 grass	 (D)	 none of these

100.	 The pulse which does not do nitrogen 
fixation is –

	 (A)	 lobia	 (B)	 gram
	 (C)	 arhar	 (D)	 Rajma

094.	 ’$bm| Am¡a n{Îm¶m| H$m no‹S> go {JaZo H$m 

{Oå‘oXma hm‘m}Z hmoVm h¡…

	 (A)	 E.~r.E.	 (B)	 Or.E.

	 (C)	 EZ.E.E.	 (D)	 BWbrZ

095.	 dm³¶ Eg.Ama.AmB©. H$m gma h¡…

	 (A)	 g~ arOZb B§ñQ>rQ>çyQ>

	 (B)	 ñQ>oQ> amBg B§ñQ>rQ>çyQ>

	 (C)	 ñQ>oQ> [agM© B§ñQ>rQ>çyQ>

	 (D)	 {gñQ>‘ Am’$ amBg BÝQ>|gr{’$Ho$eZ

096.	 XmZm| H$s eH$a H$mo H$hVo h¢…

	 (A)	 gwH«$moO	 (B)	 JbmH$Q>moO

	 (C)	 ‘mbQ>moO	 (D)	 b¡H$Q>moO

097.	 JÞo Ho$ ’y$bm| H$mo H$hVo h¢…

	 (A)	 ’y$b	 (B)	 {g{b³dm

	 (C)	 Q>eb	 (D)	 Eoamo

098.	 nm¡Yo Omo{H$ 9 K§Q>o H$s {XZ H$s amoeZr ¶m 

H$‘ g‘¶ ‘| ’$b ’y$b VWm ~rO ~ZmVo 

h¢, H$hbmVo h¢…

	 (A)	 gmQ>© S>o ßbmÝQ>g

	 (B)	 bm±J S>o ßbmÝQ>g

	 (C)	 S>o Ý¶yQ>ab ßbmÝQ>g

	 (D)	 BZ‘| go H$moB© Zhr&

099.	 H$Q>hb h¡…

	 (A)	 dZñn{V	 (B)	 ’$b

	 (C)	 Kmg	 (D)	 BZ‘| go H$moB© Zht&

100.	 Xmb Omo {H$ ZmBQ´>moOZ H$mo O‘m Zht H$aVr 

h¡…

	 (A)	 bmo{~¶m	 (B)	 MZm

	 (C)	 Aaha	 (D)	 amO‘m
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101.	 The body of indigenous plough is used 

to attach.

	 (A)	 Handle

	 (B)	 Beam

	 (C)	 Shoe and share

	 (D)	 All of the above

102.	 The depth of indigenous plough is 

adjusted by –

	 (A)	 Changing the rope length

	 (B)	� Changing the point of hitch (Clevis) 

on beam

	 (C)	� Lowing or raising axis of shoe 

with respect to the body

	 (D)	 All of the above

103.	 Plough bottom of mould board plow 

consist of 

	 (A)	 Mould Board	 (B)	 Share

	 (C)	 Land side	 (D)	 All of the above

104.	 Share, land side and mould board are 

attached with.

	 (A)	 Frog	 (B)	 Body

	 (C)	 Beam	 (D)	 Gunnel

105.	 Main function of mould board plow in.

	 (A)	 Pulverise soil

	 (B)	 To cut, lift and turn the soil

	 (C)	 Both (A) and (B)

	 (D)	 None of the above

101.	 Xoer hb H$s ~m‹S>r go {ZåZ {hñgo Ow‹S>o 

hmoVo h¡&

	 (A)	 ‘w{R>¶m

	 (B)	 h[ag

	 (C)	 gy Am¡a ’$mb

	 (D)	 Cnamo³V g^r

102.	 Xoer hb H$s JhamB© H$mo H$‘ ¶m Á¶mXm 

{H$¶m OmVm h¡&

	 (A)	 añgr H$s bå~mB© H$‘ ¶m Á¶mXm H$aHo$

	 (B)	� h[ag na H$bo{dg Ho$ {N>Ð Ho$ ~XbZo 

go

	 (C)	� ey Ho$ Ep³gg H$mo ~mS>r go ZrMm ¶m 

D±$Mm H$aHo$

	 (D)	� Cnamo³V g^r

103.	 ‘moëS> ~moS>© hb Ho$ ßbmC ~mQ>‘ go {ZåZ 

^mJ Ow‹S>o hmoVo h¢&

	 (A)	 ‘moëS> ~moS>©	 (B)	 ’$mb

	 (C)	 b¢S> gmBS>	 (D)	 Cnamo³V g^r

104.	 ’$mb b¢S> gmBS> Am¡a ‘moëS> ~moS>© Ow‹S>o hmoVo 

h¢&

	 (A)	 ’«$m°J go	 (B)	 ~mS>r go

	 (C)	 h[ag go	 (D)	 JZob go

105.	 {‘Q²>Q>r nbQ>Zo dmbo hb H$m ‘w»¶ H$m¶© h¡&

	 (A)	 {‘Q²>Q>r ^wa^war H$aZm

	 (B)	� {‘Q²>Q>r H$mQ>Zm, CR>mZm Am¡a {‘Q²>Q>r 

nbQ>Zm

	 (C)	 XmoZmo (A) Am¡a (B)
	 (D)	 Cnamo³V ‘| Zht

AGRICULTURAL ENGINEERING AND STATISTICS
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106.	 Standard disc plow is used for deep 
plowing in the range of.

	 (A)	 15-20 cm	 (B)	 20-25 cm
	 (C)	 25-30 cm	 (D)	 30-50 cm

107.	 Which one is part of mould board plow 
share.

	 (A)	 Wing of share
	 (B)	 Cleavage edge
	 (C)	 Gunnel
	 (D)	 All of the above

108.	 The objective of conventional tillage 
are to –

	 (A)	 Reduce soil erosion
	 (B)	� Increase water holding capacity of 

soil
	 (C)	 Add more humus to soil
	 (D)	 All of the above

109.	 Which one of the following is secondary 

tillage equipment.

	 (A)	 Sub-soiler

	 (B)	 Cultivator

	 (C)	 Chirsel plow

	 (D)	 None of the above

110.	 Which of the following is used for 

pulverizing / reducing the clod size

	 (A)	 Disc harrow

	 (B)	 Planker

	 (C)	 Clod crusher

	 (D)	 All of the above

106.	 ñQ>¡S>S>© {S>ñH$ hb go OwVmB© {ZåZ a|O ‘| 
H$s OmVr h¡&

	 (A)	 15-20 cm	 (B)	 20-25 cm
	 (C)	 25-30 cm	 (D)	 30-50 cm

107.	 ‘moëS> ~moS>© hb Ho$ ’$mb Ho$ ^mJ h¡&

	 (A)	 qdJ Am’$ ’$mb

	 (B)	 ³brdoO EO

	 (C)	 JZob

	 (D)	 Cnamo³V g^r

108.	 nmaån[aH$ OwVmB© H$m CÔoí¶ h¡&

	 (A)	 ^y{‘ H$Q>md H$‘ H$aZm

	 (B)	 ^y{‘ ‘| nmZr amoH$Zo H$s j‘Vm ~‹T>mZm

	 (C)	 ^y{‘ ‘| øy‘g ~‹T>mZm

	 (D)	 Cnamo³V g^r

109.	 BZ‘| go H$m¡Z goHo$ÝS>ar OwVmB© H$m ¶§Ì h¡&

	 (A)	 g~ñdmba

	 (B)	 H$ëQ>rdoQ>a

	 (C)	 {MOob hb

	 (D)	 Cnamo³V ‘| go H$moB© Zhr&

110.	 BZ‘| go H$m¡Z ¶§Ì {‘Å>r ^wa^war/T>obo H$s 

gmBO N>moQ>r H$aZo Ho$ {b¶o à¶moJ hmoVm h¡&

	 (A)	 {S>ñH$ h¡amo

	 (B)	 ßb¢H$a

	 (C)	 ³bmS> H«$ea (T>obm Vmo‹S>Zo H$m ¶§Ì)

	 (D)	 Cnamo³V g^r
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111.	 Mould board share is made of

	 (A)	 Cast iron

	 (B)	 Pig iron

	 (C)	 Chilled cast iron

	 (D)	 None of the above

112.	 In sticky soil the mould board used is.

	 (A)	 Breaker type

	 (B)	 Slat type

	 (C)	 Stubble type

	 (D)	 General purpose type

113.	 Type of rolling coulters are.

	 (A)	 Smooth edge type

	 (B)	 Notched edge type

	 (C)	 Fluted edge type

	 (D)	 All of the above

114.	 One hectare area is equal to 

	 (A)	 1000 m2

	 (B)	 10,000 m2

	 (C)	 100,000 m2

	 (D)	 None of the above

115.	 Area covered by a plow in one hour 
is equal in m2

	 (A)	� Width of cut by plow in meter per 
hour

	 (B)	 Speed of plow in meter per hour
	 (C)	� Width of cut in m × speed of 

plow in m per hour
	 (D)	� Width of cut of plow in cm × 

speed of plow in km per hour.

111.	 {‘Å>r nbQ>Zo dmbo hb H$m ’$mb ~Zm hmoVm 

h¡&

	 (A)	 T>bwE bmoho H$m

	 (B)	 {nJ AmBaZ H$m

	 (C)	 {MëS> H$mñQ> AmBaZ

	 (D)	 Cnamo³V ‘| go H$moB© Zht&

112.	 {MnH$Zo dmbr {‘Å>r ‘| {ZåZ ‘| go H$m¡Z 

EH$ ‘moëS> ~moS>© Cn¶moJ ‘| bm¶m OmVm h¡&

	 (A)	 ~«oH$a Q>mBn	

	 (B)	 ñboQ> Q>mBn

	 (C)	 ñQ>dwb Q>mBn

	 (D)	 OZab Q>mBn

113.	 amo{b§J H$moëQ>a {ZåZ àH$ma Ho$ hmoVo h¢&

	 (A)	 {MH$Zr {H$Zmao dmbr

	 (B)	 H$Q>o {H$Zmao (Notched edge) dmbr

	 (C)	 âbwQ>oS> {H$Zmao dmbo

	 (D)	 Cnamo³V g^r

114.	 EH$ ho³Q>oa H$m joÌ’$b hmoVm h¡&

	 (A)	 1000 m2

	 (B)	 10,000 m2

	 (C)	 100,000 m2

	 (D)	 Cnamo³V ‘o§ go H$moB© Zht&

115.	 EH$ hb Ho$ Ûmam EH$ K§Q>o ‘| IoV H$s 

OwVmB© hmoVr h¡ m2 ‘|

	 (A)	 hb H$s Mm¡‹S>mB© ‘r. ‘|

	 (B)	 hb H$s J{V ‘r. à{V K§Q>o ‘|

	 (C)	� hb H$s Mm¡‹S>mB© ‘r. × hb H$s J{V 

‘rQ>a à{V K§Q>o

	 (D)	� hb H$s Mm¡‹S>mB© cm × hb H$s J{V 

{H$.‘r. à{V K§Q>o
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116.	 Tractor operated plow cutting width is 

1 m and operating speed is 4.5 km per 

hour. Area will be covered in 8 hours 

(if efficiency is 100%) will be

	 (A)	 2.6 hectare	 (B)	 3.0 hectare

	 (C)	 3.6 hectare	 (D)	 4.6 hectare

117.	 Tractor plow width is 60 cm and depth 

is 20 cm. Total draft of the implement 

is 4800 kg. The unit draft will be.

	 (A)	 4 kg/cm2	 (B)	 5 kg/cm2

	 (C)	 6 kg/cm2	 (D)	 3 kg/cm2

118.	 The implement choking between discs.

	 (A)	 Speed of tractor is too low

	 (B)	 Scrapers are not set correctly

	 (C)	 Gangs are not rolling freely

	 (D)	 All of the above

119.	 Rotary puddlers are used in rice 

cultivation due to.

	 (A)	 Better pulverization

	 (B)	 Better puddling

	 (C)	 Reduced draft

	 (D)	 All of the above

116.	 EH$ Q>¡³Q´>a g§Mm{bV hb H$s Mm¡‹S>mB© 1 ‘rQ>a 

h¡ Am¡a ¶h 4.5 {H$.‘r./K§Q>o H$s J{V go 

Mbm¶m Om ahm h¡& ¶h 8 K§Q>o ‘o {H$VZo 

joÌ’$b H$s OwVmB© H$aoJm& (¶{X j‘Vm 100% 

hmo)

	 (A)	 2.6 h¡³Q>o¶a	 (B)	 3.0 h¡³Q>o¶a

	 (C)	 3.6 h¡³Q>o¶a	 (D)	 4.6 h¡³Q>o¶a

117.	 Q>¡³Q>a go MbZo dmbo hb H$s Mm¡‹S>mB© 60 
go.‘r. Am¡a JhamB© 20 go.‘r. h¡ Bg ¶§Ì 

na {I§Mmd 4800 {H$.J«m. n‹S> ahm h¡ Vmo 

BH$mB© {I§Mmd ³¶m hmoJm?

	 (A)	 4 {H$J«m./go‘r.2	(B)	 5 {H$J«m./go‘r.2

	 (C)	 6 {H$J«m./go‘r.2	(D)	 3 {H$J«m./go‘r.2

118.	 VdoXma OwVmB© ¶§Ì Ho$ ~rM MmoqH$J H$m H$maU

	 (A)	 Q´>¡³Q>a H$s J{V H$‘ hmoZm

	 (B)	 ñH«o$na H$m R>rH$ go Zht bJmZm

	 (C)	 J¢J H$m ñdV§Ì ê$ngo Zhr§ Ky‘Zm

	 (D)	 Cnamo³V g^r

119.	 YmZ H$s IoVr Ho$ {bE amoQ>ar nS>ba Cn¶w³V 

h¡&

	 (A)	� {‘Q²>Q>r H$mo AÀN>r ^wa^war H$aZo Ho$ 

H$maU

	 (B)	 AÀN>r nS>{b§J Ho$ H$maU

	 (C)	 H$‘ {I§Mmd Ho$ H$maU

	 (D)	 Cnamo³V g^r
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120.	 Cleaning of grain is unsatisfactory 

because.

	 (A)	 Fan speed is less

	 (B)	� Air guide blade not working 

properly

	 (C)	 Radial blower blade not proper

	 (D)	 All of the above

121.	 The disks of disk harrows are made of.

	 (A)	 Cast iron

	 (B)	 Spring steel

	 (C)	 High-grade heat treated steel

	 (D)	 None of the above

122.	 The depth of penetration of a disk 
harrow is increased by.

	 (A)	 Increasing the spacing of disk
	 (B)	 Decreasing the spacing of disks
	 (C)	 Decreasing the cut of harrow
	 (D)	 None of the above

123.	 The working depth of animal drawn 
spike tooth harrow is.

	 (A)	 5 cm
	 (B)	 10 cm
	 (C)	 15 cm
	 (D)	 None of the above

124.	 In general the length of wooden plank 

drawn by a pair of bullock is 

	 (A)	 80-90 cm	 (B)	 100-120 cm

	 (C)	 150-200 cm	 (D)	 200-250 cm

120.	 XmZo H$s g’$mB© g§VmofOZH$ Zht hmo ahr h¡&

	 (A)	 n§Io H$s J{V H$‘ h¡&

	 (B)	� n§Io H$s JmBS> ãboS> R>rH$ go H$m‘ 

Zht H$a ahr h¡&

	 (C)	 ao{S>¶b ãbmoAa ãboS> R>rH$ Zht h¡&

	 (D)	 Cnamo³V g^r

121.	 {S>ñH$ h¡amo H$s {S>ñH$ ~Zr hmoVr h¡&

	 (A)	 H$mñQ> Am¶aZ

	 (B)	 pñà¨J ñQ>rb

	 (C)	 hmB© J«oS> hrQ> Q´>rQ>oS> ñQ>rb

	 (D)	 Bg‘| go H$moB© Zhr§&

122.	 {S>ñH$ h¡amo H$s JhamB© ~‹T>mB© OmVr h¡&

	 (A)	 {S>ñH$ Ho$ ~rM H$s Xÿar ~‹T>mZo go

	 (B)	 {S>ñH$ Ho$ ~rM H$s Xÿar H$‘ H$aZo go

	 (C)	 h¡amo H$m H$Q> H$‘ H$aZo go

	 (D)	 Cnamo³V ‘| go H$moB© Zhr§&

123.	 ~¡bm| go MbZo dmbo ñnmBH$ Qy>W h¡amo H$s 

JhamB© ‘w»¶V… hmoVr h¡&

	 (A)	 5 go‘r.

	 (B)	 10 go‘r.

	 (C)	 15 go‘r.

	 (D)	 Cnamo³V ‘| go H$moB© Zhr§&

124.	 gmYmaUV¶m bH$‹S>r go ~Zo nQ>obo H$s bå~mB© 
Omo EH$ Omo‹S>r ~¡bm| go Mbm¶r OmVr h¡, 
BgH$s bå~mB© hmoVr h¡& 

	 (A)	 80-90 go‘r.	 (B)	 100-120 go‘r.
	 (C)	 150-200 go‘r.	(D)	 200-250 go‘r.
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125.	 If the size of tractor or drawn drill is 
11 × 20 cm then its nominal width will 
be.

	 (A)	 180 cm
	 (B)	 2.2 m
	 (C)	 220 mm
	 (D)	 209 cm

126.	 The auger type metering device is used 

in.

	 (A)	 Fertilizer drill

	 (B)	 Seed drills

	 (C)	 Planters

	 (D)	 All of these

127.	 A fan type nozzle sprays the liquid in 
the form of a.

	 (A)	 Solid cone
	 (B)	 Hollow cone
	 (C)	 Flat sheet
	 (D)	 Flooding 

128.	 The uniformity of coverage in chemical 
spraying is determined by.

	 (A)	 Type of nozzle
	 (B)	 Nozzle spacing
	 (C)	 Boom height
	 (D)	 All of these

129.	 Depreciation of machine is determined 
by.

	 (A)	 Estimated value method
	 (B)	 Straight line method
	 (C)	 Sum of digits method
	 (D)	 All of the above

125.	 ¶{X Q>¡³Q>a go MbZo dmbr {S´>b H$s gmBO 

11 × 20 go‘r. h¡ Vmo BgH$s Mm¡‹S>mB© hmoJr&

	 (A)	 180 go‘r.

	 (B)	 2.2 ‘r.

	 (C)	 220 {‘br./‘r.

	 (D)	 209 go‘r.

126.	 lJa Q>mBn H$s ‘mnH$ CnH$aU à¶moJ ‘o§ 
bm¶r OmVr h¡&

	 (A)	� ’$Q>ubmBOa {S´>b ‘| (ImX S>mbZo dmbr 
‘erZ ‘|)

	 (B)	 ~rO ~moZo dmbr ‘erZ ‘|
	 (C)	 ßbmÝQ>a ‘|
	 (D)	 Cnamo³V g^r ‘|

127.	 ’¡$Z Q>mBn Zm{Ob go ñào H$m ê$n hmoVm h¡& 

	 (A)	 gm{bS> H$moZ H$s Vah

	 (B)	 hmbmo H$moZ H$s Vah

	 (C)	 âb¡Q> erQ> H$s Vah

	 (D)	 âbqS>J H$s Vah

128.	 Ho${‘H$b Ho$ {N>‹S>H$md H$s EH$ê$nVm {Z^©a 
H$aVr h¡&

	 (A)	 Zm{Ob Ho$ àH$ma na
	 (B)	 Zm{Ob Ho$ Xÿar na
	 (C)	 ~y‘ H$s D±$MmB© na
	 (D)	 Cnamo³V g^r na

129.	 ‘erZ H$s pñWV ì¶¶ ‘mby‘ H$s OmVr h¡&

	 (A)	 BñQ>r‘oQ>oS> d¡ë¶y ‘oWS> Ûmam

	 (B)	 ñQ´>oQ> bmBZ VarH$mo§ Ûmam

	 (C)	 g‘-Am°’$ {S>{OQ> VarH$mo§ Ûmam

	 (D)	 Cnamo³V g^r
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130.	 Fixed cost of a tractor includes.

	 (A)	 Depreciation 

	 (B)	 Insurance and taxes

	 (C)	 Shelter change

	 (D)	 All of the above

131.	 Variable cost of tractor includes.

	 (A)	 Cost of fuel consumed

	 (B)	 Cost of repair and maintenance

	 (C)	 Cost to words Labor charge

	 (D)	 All of the above

132.	 In general the useful life of tractor in 

India is considered.

	 (A)	 8000 hrs	 (B)	 8500 hrs

	 (C)	 10,000 hrs	 (D)	 12,000 hrs

133.	 Which one pump is used to pump water 

at higher height.

	 (A)	 Single stage pump

	 (B)	 Multi stage pump

	 (C)	 Horizontal axis pump

	 (D)	 All of the above

134.	 Open impeller pump is used to.

	 (A)	 Pump clean water

	 (B)	 Pump water at higher height

	 (C)	 Pump sewage water

	 (D)	 None of the above

130.	 Q>¡´³Q>a H$m pñWa ì¶¶ hmoVm h¡&

	 (A)	 ì¶¶ õmg ({S>{à{g¶oeZ)

	 (B)	 ~r‘m

	 (C)	 aIZo Ho$ OJh H$m IM© (eoëQ>a MmO©)

	 (D)	 Cnamo³V g^r

131.	 Q´>¡³Q>a H$m àMmbZ ì¶¶ hmoVm h¡&

	 (A)	 à¶moJ H$s J¶r B©YZ H$s H$s‘V

	 (B)	 ‘aå‘V d aI-aImd na ì¶¶

	 (C)	 ‘OXÿar na ì¶¶

	 (D)	 Cnamo³V g^r

132.	 gm‘mÝ¶V¶m ^maV df© ‘| Q´>¡³Q>a H$m OrdZ 

hmoVm h¡&

	 (A)	 8000 hrs	 (B)	 8500 hrs

	 (C)	 10,000 hrs	 (D)	 12,000 hrs

133.	 H$m¡Z nån A{YH$ D±$MmB© VH$ nmZr nhþ±MmZo 

Ho$ {b¶o H$m‘ ‘o§ bm¶m OmVm h¡&

	 (A)	 EH$ ñQ>oO dmbm nån

	 (B)	 EH$ go A{YH$ ñQ>oO dmbm nån

	 (C)	 g‘mZmÝVa Ywar (axis) dmbm nån

	 (D)	 Cnamo³V g^r

134.	 Iwbm hþAm Bånoba nmZr CR>mZo Ho$ H$m‘ 
AmVm h¡&

	 (A)	� gm’$ nmZr CR>mZo Ho$ {b¶o à¶moJ hmoVm 
h¡&

	 (B)	� A{YH$ D±$MmB© VH$ nmZr CR>mZo Ho$ 
{b¶o H$m‘ ‘o AmVm h¡&

	 (C)	� {gdoO nmZr nån H$aZo Ho$ {b¶o à¶moJ 
‘o§ AmVm h¡&

	 (D)	 Cnamo³V ‘| go H$moB© Zhr§&
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135.	 Deep well turbine pump is used to lift 

water from.

	 (A)	 10 ft water level

	 (B)	 15 ft water level

	 (C)	 More than 20 ft water level

	 (D)	 All of the above

136.	 The height of water over 90° v noted 

is 4 cm. The discharge will be

	 (A)	 0.22 l/sec	 (B)	 0.35 l/sec

	 (C)	 0.40 l/sec	 (D)	 0.44 l/sec

137.	 The width of square channel is 20 cm 

and the height of flowing water is  

15 c.m. The velocity of flowing water 

in channel is 2 meter/sec the discharge 

will be.

	 (A)	 0.06 m3/sec	 (B)	 0.07 m3/sec

	 (C)	 0.08 m3/sec	 (D)	 0.05 m3/sec

138.	 A pump is pumping water in a tank 

at a height of 12.2 meter Pump is 

pumping 4500 liter water per minute. 

The friction loss in pipe is equal to 

4.57 meter, suction lift is 3.05 meter. 

The pump out put in h.p. will.

	 (A)	 20.82 h.p	 (B)	 19.82 h.p

	 (C)	 21.82 h.p	 (D)	 22.82 h.p

135.	 Jhao Hw±$E dmbm Q>a~mBZ nån nmZr CR>mVm 

h¡&

	 (A)	 10 ft nmZr H$s gVh go

	 (B)	 15 ft nmZr H$s gVh go

	 (C)	 20 ft go A{YH$ nmZr H$s gVh go

	 (D)	 Cnamo³V g^r

136.	 ¶{X nmZr H$s D±$MmB© 90° v Zmn Ho$ D$na 

4 go‘r. h¡ Vmo àòmd hmoJm&

	 (A)	 0.22 l/sec	 (B)	 0.35 l/sec

	 (C)	 0.40 l/sec	 (D)	 0.44 l/sec

137.	 EH$ dJm©H$ma Zmbr H$s Mm¡‹S>mB© 20 go‘r. 

h¡ Am¡a Bg‘| ~hZo dmbo nmZr H$s D±$MmB©  

15 go‘r. h¡ nmZr Bg‘| 2 ‘r. à{V go 

Ho$ÝÐ Ho$ doJ go ~h ahm h¡ Vmo BgH$m 

àòmd hmoJm&

	 (A)	 0.06 m3/sec	 (B)	 0.07 m3/sec

	 (C)	 0.08 m3/sec	 (D)	 0.05 m3/sec

138.	 EH$ nån go Q>¢H$ ‘o§ 12.2 ‘rQ>a H$s D±$MmB© 

na nmZr CR>m¶m Om ahm h¡& nån 4500 

brQ>a nmZr à{V {‘ZQ> CR>m ahm h¡ nmBn 

‘o Kf©U ömg 4.57 ‘r., nmZr CR>mZo H$s 

D±$MmB© nån go 3.05 ‘r. h¢, nån H$m AmCQ> 

nwQ> hmg© Xmda ‘o§ hmoJm&

	 (A)	 20.82 h.p	 (B)	 19.82 h.p

	 (C)	 21.82 h.p	 (D)	 22.82 h.p
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139.	 The mean deviation about the median 

for the following data will be

	 3, 9, 5, 3, 12, 10, 18, 4, 7, 19, 21

	 (A)	 4.57	 (B)	 5.27

	 (C)	 6.27	 (D)	 7.27

140.	 The following data is given for 
continuous frequency distribution.

	 Class – 30-40, 40-50, 50-60, 60-70, 
70-80, 80-90, 90-100

	 Frequency – 3, 7, 12, 15, 8, 3, 2
	 The mean will be 
	 (A)	 72	 (B)	 52
	 (C)	 62	 (D)	 82

141.	 The variance of Q. No. 140 will be

	 (A)	 201	 (B)	 101

	 (C)	 301	 (D)	 401

142.	 The standard deviation of Q. No. 140 
will be.

	 (A)	 16.18	 (B)	 17.18
	 (C)	 14.18	 (D)	 13.18

143.	 The standard deviation of the binomial 

distribution is.

	 (A)	 NP

	 (B)	 npq

	 (C)	 npq

	 (D)	 None of the above

139.	 ZrMo {X¶o hþE S>oQ>m H$m Am¡gV {dMbZ 

‘o{S>¶Z Ho$ H$ar~ {H$VZm hmoJm&

	 3, 9, 5, 3, 12, 10, 18, 4, 7, 19, 21
	 (A)	 4.57	 (B)	 5.27
	 (C)	 6.27	 (D)	 7.27

140.	 {ZåZ S>oQ>m bJmVma ~maå~aVm H$m {X¶m J¶m 
h¡, BgH$m ‘Ü¶ (‘rZ) ³¶m hmoJm&

	 Class – 30-40, 40-50, 50-60, 60-70, 
70-80, 80-90, 90-100

	 Amd¥{V (Frequency) – 3, 7, 12, 15, 8, 
3, 2

 	 (A)	 72	 (B)	 52
	 (C)	 62	 (D)	 82

141.	 Cnamo³V àíZ Z§.140 H$m d¡[a¶§g ³¶m hmoJm&

	 (A)	 201	 (B)	 101
	 (C)	 301	 (D)	 401

142.	 àíZ g§. 140 H$m ‘mZH$ {dMbZ ³¶m hmoJm&

	 (A)	 16.18	 (B)	 17.18

	 (C)	 14.18	 (D)	 13.18

143.	 {ÛnXd§Q>Z H$m ‘mZH$ {dMbZ h¢&

	 (A)	 NP

	 (B)	 npq

	 (C)	 npq

	 (D)	 Cnamo³V ‘| go H$moB© Zht&
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144.	 H$mo{’${g¶oQ> Am’$ d¡[a¶ogZ hmoVm h¡&

	 (A)	 100
x
σ #

	 (B)	 100
x

2σ #

	 (C)	 100
m
σ #

	 (D)	 Cnamo³V ‘| go H$moB© Zhr&

145.	 àH$sUrZ (‘rOa Am’$ {S>gng©Z) H$m ‘mnZ 
h¡&

	 (A)	 namg
	 (B)	 ‘mÜ¶ {dMbZ
	 (C)	 ‘mZH$ {dMbZ
	 (D)	 Cnamo³V g^r

146.	 ¶{X Qy> do H$b{g{’$Ho$eZ ‘o 5 ãbmH$ Am¡a 

5 CnMma h¡ Vmo ao{gSw>¶b Ìw{Q> H$s {S>J«r 

Am’$ ’«$sS>‘ ³¶m hmoJr&

	 (A)	 16	 (B)	 24

	 (C)	 4	 (D)	 5

147.	 EH$ ³bmg ‘o§ b‹S>H$mo§ H$s D±$MmB© dOZ 

Am¡a CgH$m d¡[a¶§g {X¶m J¶m h¡& CZ‘| go 

{H$g‘| Á¶mXm d¡[a¶oeZ h¡&

Height Weight
Man 162.6 cm 52.36 kg
Variance 127.69 cm2 23.14 kg2

	 (A)	 D±$MmB©

	 (B)	 dOZ

	 (C)	 XmoZmo§ ~am~a

	 (D)	 Cnamo³V ‘| go H$moB© Zhr§&

144.	 The coofficient of variation is given.
	 (A)	 100

x
σ #

	 (B)	 100
x

2σ #

	 (C)	 100
m
σ #

	 (D)	 None of the above

145.	 Measure of dispersion is.

	 (A)	 Range

	 (B)	 Mean deviation

	 (C)	 Standard deviation

	 (D)	 All of the above

146.	 In a two way classification number of 
treatments are 5 and replication are 5 
then degrees of freedom for residuals 
(Error) will be.

	 (A)	 16	 (B)	 24
	 (C)	 4	 (D)	 5

147.	 In a class the mean height, weight and 

variance are given below, Which one 

show greater variation.

Height Weight
Man 162.6 cm 52.36 kg
Variance 127.69 cm2 23.14 kg2

	 (A)	 Height

	 (B)	 Weight

	 (C)	 Both equal

	 (D)	 None of the above
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148.	 ‘mZd Mm{bV Mmam H$mQ>Zo Ho$ âbmB ìhrb 

H$s Am¡gV J{V hmoJr, {Og‘| Xmo J‹S>mgo 

bJo h¢&

	 (A)	 35 rpm	 (B)	 33 rpm

	 (C)	 30 rpm	 (D)	 28 rpm

149.	 Mmao H$s bå~mB© KQ>mB© ~‹T>mB© Om gH$Vr h¡& 

	 (A)	 H$mQ>Zo dmbo hoS> H$s J{V ~Xb H$a

	 (B)	 J‹S>mgo H$s g§»¶m ~XbH$a

	 (C)	 ’$sS> amoba H$s J{V ~XbH$a

	 (D)	 Cnamo³V g^r

150.	 ep³V Mm{bV Mmam H$mQ>Zo Ho$ âbmB ìhrb 

H$s J{V hmoVr h¡&

	 (A)	 250-300 rpm	 (B)	 300-350 rpm

	 (C)	 350-700 rpm	 (D)	 600-1000 rpm

148.	 The average speed of a fly wheel of 

a manually operated chaff cutter with 

2 knives will be.

	 (A)	 35 rpm	 (B)	 33 rpm

	 (C)	 30 rpm	 (D)	 28 rpm

149.	 The length of fodder can be varied by.

	 (A)	 Changing speed of cutting head

	 (B)	 Changing number of knives

	 (C)	 Changing the speed of feed roller

	 (D)	 All of the above

150.	 The power operated chaff cutter has fly 

wheel speed in the range of.

	 (A)	 250-300 rpm	(B)	 300-350 rpm

	 (C)	 350-700 rpm	(D)	 600-1000 rpm
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